Corrections Savoir Op. 3

Corrigé Exercice 12

Non, c’est une addition ;
mais on peut calculer

Oui, par 8, car c’est une
multiplication

Non, c’est une addition ;
mais on peut calculer

Oui, par 7, car c’est une
multiplication
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Corrigé Exercice 13

A_49_7><7_7 B_33_3><11_3 C_6_6><1_1
28 7x4 4 77 7x11 7 60 6x10 10
D_48_8><6_6_3><2_3 E_35_5><7_7 F_26_13><2_13

T 32 8x4 4 2x2 2 T 20 4x5 4 42 21x2 21
G_63_9><7_7 H_51_17x3_3_3

81 9%x9 9 T 17 17x1 1
Corrigé Exercice 14
Z7=12=22x3 : Y =23 ; A=3%2x5 ; B=3x29 ; (=143=11x13

D =392 =23 x 72

Corrigé Exercice 15
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s E=276=22x3%x23 ; F=735=3x5%x7%2;: G=23%x5%2%x7




